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【１６】 ======================================== 

 

N = (0. 2̇11̇)
3
 とすると，次式が成り立つから， 

N = ∑(2 ∙ 32 + 1 ∙ 3 + 1) ∙ 3−3∙𝑖

∞

𝑖=1

= lim
𝑛→∞

[∑ 22 ∙ 3−3∙𝑖

𝑛

𝑖=1

] 

右辺の級数を S とおいて計算すると， 

S = ∑ 3−3∙𝑖

𝑛

𝑖=1

=
1

33
+

1

36
+ ⋯ +

1

33∙𝑛
 

33 ∙ S = 1 +
1

33
+

1

36
+ ⋯ +

1

33∙(𝑛−1)
= ∑ 3−3∙𝑖

𝑛−1

𝑖=0

 

より， 

(1 − 33) ∙ S =
1

33∙𝑛
− 1 ，          S =

1

26
∙ (1 −

1

33∙𝑛
) 

を得る．従って， 

N = lim
𝑛→∞

[22 ∙ ∑ 3−3∙𝑖

𝑛

𝑖=1

] = lim
𝑛→∞

[22 ∙
1

26
∙ (1 −

1

33∙𝑛
)] = lim

𝑛→∞
[11 ∙

1

13
∙ (1 −

1

33∙𝑛
)] = 11 ∙

1

13
 

であるから，13 進数で表すと， 

N = (0. B)13 

と書ける． 


